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Cluster: 0191 ptr; resid: 0.33; r/c: 24/81

x.range

upstream meme PSSM #1; e=750

1 3 5 7 9 11 131 3 5 7 9 11 13

x.range

y.
ra
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e

upstream meme PSSM #2; e=3.9e+04

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211
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26190

31492

32390

34976

35589

36394

41063

41518

42611

42854

43541

44530

46618

46711
48313

48731

50493

51560

54417

54801

54901

56991
string −500 −400 −300 −200 −100 −1

56991NA
44530−0.06

9724−0.08
34976−0.10
50493−0.12
36394−0.12
43541−0.27
42611−0.36
54417−0.41
54801−0.54
44117−0.84
41518−1.06
31492−1.86
54901−2.77
48313−2.79
51560−2.92
46711−3.13
26190−3.14
46618−3.56
35589−3.96
41063−5.24
32390−5.62
42854−7.25
48731−8.47

log10(P) upstream meme1 2 log10(P.clust)=−2.38; 24 seqs; 24 uniq
c(0.5, 2.5)
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